Subject :
Paper :

B.Ed 1* Year (2015-2016)

Mathematics (Set-I1V) Full Marks : 80
CEC Time : 03 hours

Driections :-

L.
ii.

fader —

1.

il.

Candidates are requested to give your answer in own words and sentences.
All questions contain equal marks. Answer any five questions out of ten questions.
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[4+4+8]

Write the full name of L.C.M and H.C.F. Find the L..C.M and H.C.F of 18 and
24 by the Prime factorization method.

L.CM Td HCF &1 qof 9™ ford | awrsg o fafe gRT 18 UG 24 T
L.CM Td H.C.F Sd & |

By what number should 1365 be divided to get 31 as quotient and 32 as
remainder?

1365 H ford AT | 91T <1 SC d1fd 9TTHe 31 T4 A% 32 99 |

4+3V5 _

= a + bV/5, find the value 2and b
4-35

If 2 and b are rational numbers and

a2 v b uRiE went § vl PP = at Y5, A2 W@ b AW T
X |
[4+8+4]
If P(x) = 4x? — 3x + 6, Then find the value of
i) P(0) (i P(4) (i) P(=5) (V) PG)
Ife P(x) =4x2 —3x + 6, 8 I
(i) P(O0) (i) P@#) (i) P(=5) (i) PG)
&1 7149 et |
Factorize (JUIEE HIfSN) :
(i) 5x% —20xy (i) x* — 625
(iii) x> + 9x + 18 (iv) x3 — 64
Divide (x3 — 6x2 + 13x + 60) by (x + 2)

(x3 — 6x% + 13x + 60) BT (x + 2) A W7 < |
[8+8]

Solve for x and y

(x 3R y B foIT g W)

@) 8x+5y=9
3x+2y=4



(b)

(@)

(b)

(@)

(b)

(c)

(i1) 2x+y—-5=0
3x+2y—8=0

Solve the following equation for x and y
(x 3R y & FrfaRad THaRT & g W)

2 3
y
= —2 (where ‘ST’ x # 0,y # 0)
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[8+8]

Check the nature of the quadratic equation x> — 7x — 18 = 0 and if possible
then find the value of x by the use of quadratic equation method.

fgend wfieRor x2 —7x — 18 =0 &1 UYHfA & S w3 | I F9g & Al
fgena afiaxer fafy &1 yaT aRA g x BT AM ST B

A two-digit number is 5 times the sum of its digits and is also equal to 5 more
than twice the product of its digits. Find the number.

3T SpiaTell AT U Bl & ANTHS ¥ 5 o ¥ iR U 3fdl & T
5 SITST & | AT ST B |

[4+4+8]

If Sec = 2 then

Tanf _ Sin@
1+Tan20  Secd

Verify that

Erf?Sec9=% a1 Sirg & &b

Tan @ _ Sin 6
1+ Tan?0 Secd

Prove that (RIg & f&)—
SinA+ Tan A _ SecA+1

TanA—SinA SecA-—1

A person standing of the bank of a river observes that the angle of elevation of
the top of a tree standing on the opposite bank is 60°. When he moves 30 metres
away from the bank, he finds the angle of elevation to be 30°. Find the height of
the tree and the width of the river.

e Afdd Tl $ U (PR Wl 2 3R T4l & AT WSl T gaT B IWI
R &1 IHfT BT 60° g91aT 2| Al g8 wfdd a1 39 fbIR & 30 HIev g
ST 8, T I8 g&1 Bl IUN R BT I DI 30° UK | geT Bl Bl SHaTg
TE BT B dlSTS AT PN |




[6+6+4]

6.
(a) Sides of a triangular are in the ratio of 12 : 17 : 25 and its perimeter is 540 cm.
find its area.
forely B @t oI 12 1 17 @ 25 & 31U # & ud g9 ulRe 540 WAL
g BT &1 ashd STd N |
(b) A hemispherical bowl has a radius of 3.5 cm.
@) What would be the volume of water it would contain?
(i1) Find the total surface area of a hemisphere.
TF AGMATHR Hels bl Fear 35 HH. &
() 39 Pels § W U BT AT ST B |
(i) S JEMADHR Helg & Yof IO &bl F1d N |
(c) The diameter of a roller is 84 cm. and its length is 120 cm. It takes 500 complete
revolutions to move once over to level a playground. Find the area of the
playground in (meter)”.
el Aok HT AT 84 AHN. UF UG oI1g 120 AL 2| foell @ & HaA
DI FITA B H 3AD 500 TIIR o USd & | Wel & HAA Bl &hel o
X |
[8+8]
7.
(a)
@) A vendor sells lemons at 5 for a rupee gaining 40%. How many did he
buys for a ruppe?
(ii) A men sells his typewriter at 5% loss. If he sells it for Rs. 80 more, he
gains 5%. Find the cost price of the typewriter.
Ud SIGIADR Helg & Brar 35 AL 8T
(1) U® fapar Ub S0 § 5 B &R F TP 40% BT A HHGT & | gard
% a8 v Uy H fdhat g e or |
(i) TP MMEH 3OHT TEWISR 5% dI 8 W I9al | I S 80 W
Afed H J=1 BT Al 5% BT N AT | SSURISER B HIA T
X |
(b) Find the simple and compound interest on Rs. 6250 at 8% p.a. for 2 years.
6250 WU Pl HeRIRT TR 8% B <X W 2 aul & oY AR TSl Ud Ashgl
TS ST X |
[8+8]
8.  If(af)
(@) A=1{3,570911}
B=1{1,25,9}
C=1{2,4,59, 10}
Then find the following.

(@ fA=felRaa &1 a9 e 1)
(i) AUB (i)ANC  (i)(ANC)UB ivyBNCO)NA



10.

(b)

@) Using binomial theorem, expand of

2Xx 3
G =

)6
fue wia @ R ¥ (Z—2)6 @ faRaR N |

3 2x
(i1) Find the middle term in the expansion of

1
(xz _ ﬁ)ll

[16]
Find the Mean, Median and Mode by assumed mean method.
(foua Ay fAfr gRT Ay, Aeg® U9 981 SiTd a |)
Class Interval 0-10 10-20 | 20-30 | 30-40 | 40-50
Frequency 7 8 12 13 10
[8+8]

(@)

(b)

Find the area of the quadrilateral whose vertices takes in order, are (-4, -2),
(_37 _5)’ (3’ _2)’ (27 3)'

frdll o &1 eF%a Sa X Sdfh IHS Nl & Feie HEI: (-4, -2),
(-3,-5), (3,-2),(2,3) &

Define triangle with suitable example.
Prove that the sum of all interior angles of the triangle is 180°.

e @1 R Sfd SeERYT & | R |
g & & fodll Be & sialRe & HIvll &1 IFTHd 180° & RIER BT
gl

-- The End --



